1. [TanApCalc7 4.4.008.] --/16 points No Response | Show Details Notes 
	part 
	score 
	total 
	submissions 

	1 
	-- 
	4 
	0/2 

	2 
	-- 
	4 
	0/2 

	3 
	-- 
	4 
	0/2 

	4 
	-- 
	4 
	0/2 

	-- 
	-- 
	16 
	-- 


You are given the graph of a function f defined on the indicated interval. Find the absolute maximum and the absolute minimum of f, if they exist. Fill in the blanks. (Enter NONE in any unneeded boxes.) 
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) (absolute maximum) 
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) (absolute minimum) 
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2. [TanApCalc7 4.4.010.] --/10 points No Response | Show Details Notes 
	part 
	score 
	total 
	submissions 

	1 
	-- 
	5 
	0/2 

	2 
	-- 
	5 
	0/2 

	-- 
	-- 
	10 
	-- 


Find the absolute maximum value and the absolute minimum value, if any, of the following function. (If an absolute maximum/minimum does not exist, enter NONE in that blank.) 
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3. [TanApCalc7 4.4.014.] --/10 points No Response | Show Details Notes 
	part 
	score 
	total 
	submissions 

	1 
	-- 
	5 
	0/2 

	2 
	-- 
	5 
	0/2 

	-- 
	-- 
	10 
	-- 


Find the absolute maximum value and the absolute minimum value, if any, of the following function. (If an absolute maximum/minimum does not exist, enter NONE in that blank.) 
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4. [TanApCalc7 4.4.018.] --/10 points No Response | Show Details Notes 
	part 
	score 
	total 
	submissions 

	1 
	-- 
	5 
	0/2 

	2 
	-- 
	5 
	0/2 

	-- 
	-- 
	10 
	-- 


Find the absolute maximum value and the absolute minimum value, if any, of the following function. (If an absolute maximum/minimum does not exist, enter NONE in that blank.) 
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(absolute minimum) 
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(absolute maximum)
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5. [TanApCalc7 4.4.026.] --/10 points No Response | Show Details Notes 
	part 
	score 
	total 
	submissions 

	1 
	-- 
	5 
	0/2 

	2 
	-- 
	5 
	0/2 

	-- 
	-- 
	10 
	-- 


Find the absolute maximum value and the absolute minimum value, if any, of the following function. (If an absolute maximum/minimum does not exist, enter NONE in that blank.) 
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(absolute minimum) 
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(absolute maximum)
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6. [TanApCalc7 4.4.040.] --/10 points No Response | Show Details Notes 
	part 
	score 
	total 
	submissions 

	1 
	-- 
	5 
	0/2 

	2 
	-- 
	5 
	0/2 

	-- 
	-- 
	10 
	-- 


Lynbrook West, an apartment complex, has 100 two-bedroom units. The monthly profit (in dollars) realized from renting out x apartments is given by the following function. 

[image: image44.png]—11x" — 52000






(a) To maximize the monthly rental profit, how many units should be rented out? 
[image: image45.wmf]

units 

(b) What is the maximum monthly profit realizable? (Give your answer correct to the nearest dollar.) 
$ [image: image46.wmf]
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7. [TanApCalc7 4.5.012.] --/10 points No Response | Show Details Notes 
	part 
	score 
	total 
	submissions 

	1 
	-- 
	5 
	0/2 

	2 
	-- 
	5 
	0/2 

	-- 
	-- 
	10 
	-- 


For its beef stew, Betty Moore Company uses aluminum containers that have the form of right circular cylinders. Find the radius and height of a container if it has a capacity of 45 in3 and is constructed using the least amount of metal. 
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in (radius) 
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8. [TanApCalc7 4.5.015.] --/6 points No Response | Show Details Notes 
	part 
	score 
	total 
	submissions 

	1 
	-- 
	2 
	0/2 

	2 
	-- 
	2 
	0/2 

	3 
	-- 
	2 
	0/2 

	-- 
	-- 
	6 
	-- 


If exactly 198 people sign up for a charter flight, Leisure World Travel Agency charges $302 per person. However, if more than 198 people sign up for the flight (assume this is the case), then each fare is reduced by $1 for each additional person. (Hint: Let x denote the number of passengers above 198. Show that the revenue function R is given by R(x).) 

R(x) = (198 + x)(302 - x) 

(a) Determine how many passengers will result in a maximum revenue for the travel agency. 
[image: image60.wmf]

passengers 

(b) What is the maximum revenue? 
$ [image: image61.wmf]



(c) What would be the fare per passenger in this case? 
$ [image: image62.wmf]

per passenger 
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9. [TanApCalc7 4.5.016.] --/8 points No Response | Show Details Notes 
	part 
	score 
	total 
	submissions 

	1 
	-- 
	8 
	0/2 


An apple orchard has an average yield of 36 bushels of apples/tree if tree density is 24 trees per acre. For each unit increase in tree density, the yield decreases by 2 bushels. How many trees should be planted in order to maximize yield? 
[image: image68.wmf]

trees/acre
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10. [TanApCalc7 4.5.018.] --/10 points No Response | Show Details Notes 
	part 
	score 
	total 
	submissions 

	1 
	-- 
	5 
	0/2 

	2 
	-- 
	5 
	0/2 

	-- 
	-- 
	10 
	-- 


Phillip, the proprietor of a vineyard, estimates that the first 9300 bottles of wine produced this season will fetch a profit of $3 per bottle. However, the profit from each bottle beyond 9300 drops by $0.0003 for each additional bottle sold. 

(a) Assuming at least 9300 bottles of wine are produced and sold, what is the maximum profit? (Give your answer correct to the nearest cent.) 
$ [image: image74.wmf]



(b) What would be the profit/bottle in this case? (Give your answer correct to the nearest cent.) 
$ [image: image75.wmf]
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